S gtessl
M SHSH
ol S2AFH EEREED
SA - B SRI(SIH) - NIRAY - BaS 01l bt e HIDE2
sies2elt 36,611,686 34,355,532 2,256,154
= 425,000
oy 70,000
& 7,430,227
o 28,686,459
SAHAEH 16,300 4,000 12,300
S22 3 16,300 4,000 12,300
S| S EIM(AHA) 16,300 0 16,300
201 LerEAL| 10,300 0 10,300
01 AR2teld| 10,300 0 10,300
O=2c 2d g2 =2H|
2,000,000& *14 2,000
0222 IMYL S2Z4Y|
5,000,000% 14 5,000
OXGHHEXVEY +HAA 248 ¥ &
Bl==2l 3,000,000% 14 3,000
OXct=ER2EY SAZ
25,000x 128 300
202 481 5,000 5,000
01 =LHA4L] 5,000 5,000
OS2 XY FA 5,000,000& 5,000
203 R FL| 1,000 1,000
03 A FRH L FAIY| 1,000 1,000
OFS0AEE U ABHOAIY FX
1,000,000 1,000
JRst=22tel 883,438 1,145,350 A261,912
= 210,000
= 673,438
WRet==2=2 876,038 1,135,630 A259,592
& 210,000
o 666,038
SE | A LSS (M) 56,152 61,351 N5,19
201 derEAL| 54,152 59,351 Nb5,19
01 AR2teld| 54,152 59,351 A5,19
OARDETAL HES 2T2AMN 242
183,000 *66H 2 *43] 48,312
O E2XE A
2,000,000 * 14 2,000
OS8R &Y
70,0003 *6 % *23| 840
O4==EHRFE E2S4HI
3,000,000 3,000
202 Ol 2,000 2,000
01 =LHAbI 2,000 2,000




24 gtess
I JHRet= 2L
=°2 WRetEES (Cte M2
RA - BH - SRI(3) - MRAR - BAS 0fl v e HID S
OL2=EAE EZ 0
2,000,000& 2,000
AT ANESERI 2 (IHA) 519,886 559,279 A\39,393
201 &et=E| 361,176 350,325 851
01 At 22l 2,000 0 2,000
OLAR2sEAE +2HBADIEZY Ol 8
== 5,000& »4002f A 2,000
2 sEs=4hl 349,176 350,325 1,149
OLREsEAE 31 &Ies
46,750 x 160 A+ 120 8,976
OLHAE2+Z A8 72l
340,200,000 *14] 340,200
206 M= Hl 8,710 8,954 A244
01 H=H] 8,710 8,954 A244
OLA2sEAE d4Xiel e+
130,000 %674 2 8,710
401 A2 HIX 20| 160,000 200,000 240,000
01 Al2H] 160,000 200,000 /40,000
OLAE2=ZAE 2+
16,000,000 «100HSH 160,000
AR AENSE(HI) (HEAL) 300,000 500,000 200,000
& 210,000
= 90,000
401 A2 HIZL S0 300,000 500,000 A200,000
s 210,000
= 90,000
01 Al&€H] 300,000 500,000 A200,000
OLAZSZAIE OHEAY
300,000,000 *14] 300,000
= 210,000
= 90,000
RISkl Al E &R 7,400 9,720 A2,320
JHel SH=XelAle XA (KHAI) 7,400 9,720 A2,320
201 fer=2a| 5,000 7,320 A2,320
01 At22telbl 5,000 7,320 N2,320
OJHelGt=MelAld =Z S A
5,000,0002 14! 5,000
202 04l 2,400 2,400
02 X0 2,400 2,400
O N0 200,000 x1&* 122 2,400
S t=x=P fu 96,900 121,136 N\24,236
SETHAAI | ==H O 96,900 121,136 N24,236
B FAIL 2212 (XHH) 9,900 121,136 24,236
201 Ler2gt| 16,900 16,800 100




2A: g2l
HA: s
R SZFEAR) | =-EHEE (CHe: &)
RA - BH - SRI(3) - MRAR - BAS 0fl v e HID S
01 AFR 22 5,500 5,400 100
O=HBE Y2 =W S2Z4Y|
4,000,000 4,000
O0/dEIL & D=l S It JARIEA =
g 1,500,000& 1,500
02 &=l 11,400 11,400 0
OE== & 20IJIEER MelAlE
950,000+ 12 11,400
202 04| 5,000 4,320 680
01 =LA LI 5,000 4,320 680
O=J2e| gRF8 0| 5,000,000 5,000
307 212to| ™ 75,000 75,000
05 QRIS 75,000 75,000
OFES 2 A0DIERE HelNE fe2
= 75,000,000 *14] 75,000
HERH 25 100,000 110,000 /10,000
= 25,000
= 7,500
o 67,500
A HEHH B 100,000 110,000 10,000
= 25,000
= 7,500
= 67,500
MERH wet Alg EIX AP (XA 50,000 60,000 10,000
401 A2 HIXL S 0HH| 50,000 60,000 /10,000
01 AlZH] 50,000 60,000 10,000
OUEHA wet A= EIXIAE
50,000,0002 * 14 50,000
MEfHLEt M2 EIXIAIG(=1) 50,000 50,000 0
= 25,000
= 7,500
= 17,500
201 ZerEa| 20,000 20,000 0
= 10,000
s 3,000
= 7,000
01 AtR2telH] 20,000 20,000 0
OdEnet 42(S=2) XA
20,000,000 *14] 20,000
= 10,000
s 3,000
= 7,000
401 AIZHIX 20HH| 30,000 30,000 0
= 15,000




2
X XH .
(=

chel:

RA - BH - SRI(3) - MRAR - BAS 0fl v e HIDE2
= 4,500
o 10,500
01 Al2H] 30,000 30,000 0
OdEHnet 42(42) EXIAY
30,000,000 *14] 30,000
= 15,000
= 4,500
o 10,500
et MEiotd =4 17,647,362 14,207,812 3,439,550
= 400,000
= 70,000
= 7,212,727
o 9,964,635
ote gl 17,647,362 14,207,812 3,439,550
= 400,000
s 70,000
= 7,212,721
o 9,964,635
A0t FHI(KHA) 801,520 1,401,520 £A600,000
101 @124 50,000 50,000 0
M IR NZ22RSE s 50,000 50,000 0
OL5H8 RX24 221 Y2
5,000,000 1001 S 50,000
201 ger=2a| 51,520 51,520
01 Ab2tclbl 50,560 50,560
O201d oraddl HEIEX
500,000& * 102/ 105 2 50,000
OO0t 2e| MoARZ HAs+E
70,0002 x4 F #2323 560
2 s5=4gdl 960 960 0
OHSE UHSKEASAE BII(SL)AS
= 80,0003+ 12 960
401 A2 HIX S 0HH 700,000 1,300,000 600,000
01 AlZH] 700,000 1,300,000 600,000
O46td OIXNSS A EX2sI
100,000,000 *14] 100,000
OAGH FHIAIE (SXI2el)
60,000,000& ~100HSH 600,000
AGHEZHI(XEH) (HEAL) 5,360,000 5,747,000 A387,000
401 A2 HIXL S0 5,360,000 5,747,000 /387,000
01 Al&H] 5,054,000 5,717,000 A663,000
OAGHe FHIAKE Al
5,054,000,000& * 14 5,054,000
02 &eltl 300,000 30,000 270,000




2
X XH .
(=

SCE

SA - B SRI(SIH) - NIRAY - BaS 01l bt e HIDE2
OAGHE HHIANY Z2lH]
300,000,000& *14 300,000
03 A& S CHYI 6,000 0 6,000
OA0HE ZUIA 20|
6,000,000 * 14! 6,000
SIS X2 4=(=Hl) 24,000 0 24,000
& 12,000
= 12,000
401 AlEBIZL 20| 24,000 0 24,000
& 12,000
= 12,000
01 Al&H| 24,000 0 24,000
O B - B2 At 24,000,000 24,000
& 12,000
= 12,000
ot 2te| A e = AFCKEAD) 15,800 10,800 5,000
201 L2 A| 15,800 10,800 5,000
02 3324l 15,800 10,800 5,000
O34A J2XH 2 IIes
15,800,000 *14] 15,800
SEHIHIAS (XA 93,727 93,092 635
307 SI2H0| M 46,546 46,546
02 QIZHBAAIEER 46,546 46,546
O2gY 8IS X2AMS(SEAMLY)
46,546,000 * 141 %100% 46,546
401 AlEBIZ 20 47,181 46,546 635
01 Al&H| 47,181 46,546 635
O=gY FHIY NS (STHMY)
47,181,000 *14 47,181
2Itot M S K 24 (XHAI) 100,000 100,000 0
101 2124 b| 18,186 18,186
M IRIMZ2EXNSES 18,186 18,186
O=IoERXNES 224 B 18,186
ootEE+R 212
3,282,0002 x3H«1& 9,846
o4l EEZ 1,680,000 *1& 1,680
0 BEHNUS 400,000 *3F*13] 1,200
o dMzAlHl & WEH|
140,000&*3H * 1 420
0 EAQRY 840,000 x6H+1& 5,040
201 L2 AH| 40,000 40,000
01 AR2teld| 40,000 40,000
O=0otd X2 (HaEY])
40,000,000 *14 40,000




A a2l
Ha: M AME AT
=7 okeswl (15l 8 )
SIA - B - O9l(S) - NISA - BAS Ofl ko e HIDE2
202 (44| 1,800 1,800
01 =LHO4b| 1,800 1,800
O=U0bl 1,800
401 A& HIL S 0HE| 40,014 40,014
01 Al&8I 40,014 40,014
O=2015td S22 (AMEEE)
40,014,000& * 14! 40,014
2ot EL(=21) 400,000 385,000 15,000
= 400,000
101 214 b| 163,500 179,390 A15,8%0
= 163,500
M IRNZ2EXSES 163,500 179,390 A 15,890
OJI2HH220 8 B+ 163,500
oolEER QRU(BEE S Z&)
121,500,000 * 14 121,500
= 121,500
0 dAQRY 70,0002 *5F x 120 42,000
= 42,000
201 etz A| 175,200 144,310 30,890
= 175,200
01 At22el bl 132,000 101,110 30,890
OAtF2teld] 132,000
o=Itotd =82t AX=SZ M 2EEE
1,000,000 %141 1,000
= 1,000
0OIAE QEATE SEY
900,000& x12& 10,800
= 10,800
ofQlatE QEWMEEY AR 44|
10,000,00021%14! 10,000
= 10,000
o2kStE RAB HHE KA
49,310,000 & 14! 49,310
= 49,310
oQlM=E QEHIE KAl
60,890,000 14! 60,890
= 60,890
02 S324Hl 43,200 43,200 0
0OEE23H| 43,200
0 RXIZALIH(HIIANER, XS S)
2,500,000 12& 30,000
= 30,000
0EALIAAE SXIAHHI(HI],S4)
13,200,000 * 14 13,200
= 13,200




2A: s2s2eldt
HE: NHBAMHSHEA
271 oS (el @e)
RA - BH - SRI(3) - MRAR - BAS 0fl v e HID S
401 AIZHIX 20| 61,300 61,300 0
= 61,300
01 Al2HI 61,300 61,300 0
OAlEH] 61,300
o =Jtotd RAIZe|ALY
61,300,000 *14] 61,300
= 61,300
INEICIESEEINRE LA PNR = JONDSD 154,000 154,000 0
101 el24d] 50,000 50,000
PIE EEIEEES 50,000 50,000
ONYEHE SNES 22X 2RY
2,500,0002 x22|x105H 50,000
201 gt=2E | 104,000 104,000
01 At22t2|Bl 104,000 104,000
OX 2otd FAS=A
650,000 162/« 105 H 104,000
=28 olEFHIAS (D) (HEAY) 9,556,311 3,986,343 5,569,968
= 6,801,727
o 2,754,584
401 AIZHIX 20| 9,556,311 3,986,343 5,569,968
= 6,801,727
= 2,754,584
01 Al&H] 9,133,311 3,686,343 5,446,968
OF2& Ngotd A AlZY
9,133,310,846& x14] 9,133,311
= 6,801,727
= 2,331,584
02 2eld] 420,000 300,000 120,000
O NYotd JdlAE Zeltl
420,000,0002 * 14 420,000
03 A& CHBI 3,000 0 3,000
OF2& Ngotd A 2
3,000,000& *14] 3,000
NLotd g=E Ful(=Hl) 112,000 520,000 A408,000
& 56,000
= 56,000
201 ger2g| 112,000 520,000 408,000
s 56,000
= 56,000
01 AF22t2ltl 112,000 520,000 408,000
OEEE ZH| HHIXt
112,000,000 *14] 112,000
= 56,000
o 56,000




2
X XH .
(=

chel:

RA - BH - SRI(3) - MRAR - BAS 0fl v e HID S
St 2 PO PRFX(XHA) 26,000 43,200 A17,200
201 Zer2a| 26,000 30,000 24,000
01 AtR2telbl 26,000 30,000 24,000
Ootd SYa? ot S0 &
50,0002 4004 2~ 2,000
OZRY HBEY 248
2,000,000 =10 X 20,000
OIS =8 S2SAHI 4,000
S 2| AR AN ZHI) 2,857 2,857 0
s 2,000
o 857
201 gt=2E | 2,857 2,857 0
& 2,000
= 857
01 At 22|l 2,857 2,857 0
OHEZX 020l HE 2880t =8 S
2,857,000& *14] 2,857
= 2,000
= 857
St=dHl ¥ 2el(&Hl) 563,300 800,000 A236,700
= 169,000
o 394,300
401 AI2HIKL 2 0HH 563,300 800,000 A236,700
£ 169,000
= 394,300
01 Al€H] 563,300 800,000 A236,700
Oot=&3d & 2el 563,300,000 * 14 563,300
< 169,000
e 394,300
NetE AAIFRE4(<HI) 144,000 164,000 /20,000
= 72,000
= 72,000
201 Et=2E | 144,000 164,000 220,000
= 72,000
o 72,000
01 At 2tclH] 144,000 164,000 220,000
OX 2otd A2
144,000,000 *14] 144,000
& 72,000
= 72,000
S=XF otH A (S (HEAY) 153,847 800,000 /646,153
= 100,000
[ 53,847
401 AlZHIZL SO0 163,847 800,000 A646,153




2A: s2s2eldt
MY HSHMESI TN
ciel: St EY CLE-E)
RA - BH - SRI(3) - MRAR - BAS 0fl v e HID S
= 100,000
o 53,847
01 Al2H] 151,847 800,000 A\648,153
Od=d XYstd JolAE A€l
151,846, 1543 * 14 151,847
= 100,000
o 51,847
03 Al 20HHI 2,000 0 2,000
Od=3 Xgotd JgIAg FUYI
2,000,000 14 2,000
2518 ADEAS FEANE(BS) 140,000 0 140,000
= 70,000
= 70,000
401 AIZHIXL 20HH| 140,000 0 140,000
= 70,000
o 70,000
01 Al&H] 140,000 0 140,000
OLSIEANEH =2 AIAE
70,000, 0003 *20H 2 140,000
= 70,000
= 70,000
dd2IPdl(etesael) 23,140 0 23,140
Jl=ZHl 23,140 0 23,140
J123HI(XHA) 23,140 0 23,140
201 Let2E| 19,540 0 19,540
01 At 22l 17,940 0 17,940
Org2 & JIZANRES S 7
900,000+ 12 10,800
O=AD| & BHAMED| Xtz
300,000+ 12 3,600
OE=D] eX=2 70,0003 * 122 840
O3S 210AM =2 500,000 432 2,000
Ogi2=acel d2cA 7Y
200,000 *14] 200
[ DESEAt=o= ey 500,000 12 500
02 Ss5=24dl 1,600 0 1,600
ORE+Y 400,000& *42] 1,600
203 BR =8| 3,600 3,600
4 EA2LE =L 3,600 3,600
O A2 R4 300,000& « 123 3,600
Hees(aeszeln) 17,844,546 18,767,234 922,688
WEAHcHhXIE 17,844,546 18,767,234 A922,688
LHEHeHXI = (RHAI) 17,844,546 18,767,234 A922,688
701 JIEtBIHISEHES 17,844,546 18,767,234 A922,688




2
X XH .
(=

el

S HHXIZE

SIA - B - O9l(S) - NISA - BAS Ofl ko e HIDE2
01 JIEt2IHEEZ 3,802,076 6,678,379 N2,876,303
O==ZIEA SEE3 3,802,076
02 SILELSHBNNE=Z 10,775,845 8,788,1% 1,987,650
O==EAMY XEXFISH EE/H 5,378,965
OSt=S A XZRHI|H ES3H 5,3%,880
03 SIILEEAHRN=2NEZ 3,266,625 3,300,660 A34,035
Oct=T AN XX HI|Y EE2/H 3,266,625




